




















File Edit view Terminal Tabs Help
ajith@pc230:~/test$ 1s -1
total 64

STWem e e 1 ajith ajith 3
-rw-r--r-- 1 ajith ajith 47428
-rwxr-xr-x 1 ajith ajith 589
-rw-rw-r-- 1 ajith ajith 363
drwxr-xr-x 2 ajith ajith 4096
ajith@pc230:~/test$
ajith@pc230:~/test$ cd xdata
ajith@pc230:~/test/xdata$ pwd
/home/ajith/test/xdata

ajith@pc230:~/test/xdata$ cd ..

ajith@pc230:~/test$ i

2010-06-20 17:36 asecret.dat
2010-05-18 12:00 foo.png
2010-06-08 06:42 hello.py
2010-06-18 10:57 share.tex
2010-06-20 17:34 xdata
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€ Applications Places System (3)

hello.py (~) - gedit
File Edit View Search Tools Documents Help

0 a8 &9

® B B | ]
New Open  Save  Print.. Undo #edo | Cuf Copy Pasie | Find Replace

5 hellopy % |
print 'Hello World'

a ajith@pc230: ~
Fle Edit View Terminal Tabs Help
ajith@pc230:~$ python hello.py

Hello World

ajith@pc230:~$ []

y = float (3)
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AB = AiB1 + A;B> + A3B3
c = dot(a; b
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1 Animals

This document defines sections.

1.1 Domestic

This document also defines subsections.

1.1.1 cats and dogs

Clats and dogs are domestic animals.
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Sample Question Paper
for
Mathematics using Python

Duration:3 Hrs 30 weightage

Answer all Questions. 4 x 1%
1. What are the main document classes supported by LaleX.
. T'ypeset sin® = 4 cos? z = 1 using LaTeX.

. Plot a circle using the polar() function.

= W b

. Write code to print all perfect cubes upto 2000.

Answer any two Questions. 3 x5
1. Set a sample question paper using La'leX.
2. Write a Python function to calculate the GCD of two numbers

3. Write a program with a Canvas and a circle drawn on it.

End
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